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PREIN S PER AR R B 4
i 1 § FAEH ) 2025.03.29
PR $R— HIR — R = F{E
SEMREE | (mg/m?) 1.47x103 1.54x10° 1.58x103 1.53%10°
ERFLLAE
HgoER | (kg/h) — . i S
¥ FEAgR S 250325Z03YZ111—250325Z03YZ113
R AL JRERR A 3 1 e R AR
i 1 5 KA H 2025.03.29
FFESIR BIR— AR IR = FHME
SEPHEE | (mg/m?) 2.22x10° 2.27x10° 2.19x103 2.23x10°
EFRELSL
HecE 2 (kg/h) — e —_— —_—
&1 HWgS: 250325Z03YZ211—250325Z03YZ213
FFE AL DAO064 JEHE Fa byt = {4
For i 15t H SREE H 2025.03.29
TR | Bk Hik = k= T =
SCRE | (mg/m?) 14.3 14.2 14.4 14.3 \
EFgERRE | TEIRE | (mg/md) 12.4 12.5 12.4 124 @
Ak Z | (kg/h) 1.00 1.00 1.01 1.00
L abiih s (m3/h) 70045 70669 70058 70257
HEE (%) 9.5 9.6 9.4 9.5
T (m/s) 21.3 212 212 21.2
5 By 136 135 137 136
3 Wiy (m/h) 135320 134946 135140 135135
e FEARSRS: 250325Z03YZ311—250325Z03YZ313; A& WA%: 1.5m; HEAE & 50m
HEASE: 1%
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